MIT Integration Bee Qualifying Exam

18 January 2022

T +sinz

/1+cosxdx

V3
arctan x + arccot x
/ i dz
1 T

[

sinh(x)
/ cosh(x) — sinh(x) da

a
5 d
/\/$—1+\/x—|—1 v

6] / cos(z + cosx) dx
0

/x?’sin(mg)dw

T
/1—x4dx

@/1dg;

cosh? z

1
/ e — e dx
0



3

lim sin (E sin <z sin ( ..sin (Ea:
0 « 3 3 3

n—oo

).

)

TV
n sin’s

/01\/1—\/5dx

3

/g”dx

l+r+2 +2

/sin(:c + sin(z)) — sin(x — sin(z)) dz

/tan4(x) sec®(x) + tan®(x) sec’ () dx

/(1 + log z) log log x dx

1

1

1

/ 1 n 1 n 1

l+sinx 1+ coszx l—i-tanx+

1
18] [

L")
0 n=0

1
1+ cos?z

= |

_l’_
1+cotx

1+ secx

1+ cscx

dx



